	S	Summary of Bids Receiv	ved			
Se Descri CPM	oject: 2022 Concrete Patching ction: 22-00000-10-GM ption: Patch Concrete Pavement S Pin: B-01406 Date: 4/12/2022					
Bidder Acura Inc. Triggi Construction, Inc. Alliance Contractors, Inc.	Address 556 County Line Rd P.O. Box 235 1166 Lake Avenue	City, State, Zip Bensenville, IL 60106 West Chicago, IL 60186-02 Woodstock, IL 60098	Bond Bid Bond Bid Bond Bid Bond	Bid Price \$259,314.14 \$275,965.00 \$297,163.00	37.27%	\$ Over/Under Eng. Estimate \$58,282.1 \$74,933.0 \$96,131.0
Engineer's Estimate				\$201,032.00		
Design	IDOT(2)	Contract Bidder	0	County Engineer		
Finance	Bid Tab File	Resident Eng.	N	/lgr Capital Progra	mming	
Construction	Project File	Request By Mail				

2)[[2	Division of Transportation											
Ľ	Return Bid Tabulation Project: 2022 Concrete Patching Section: 22-00000-10-GM Description: Patch Concrete Pavement CPMS Pin: B-01406 Let Date: 4/12/2022											
ltem	Item Eng Estimate Alliance Contractors, Inc. Triggi Construction, Inc. Acura In								a Inc.			
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price						
1	20200100	EARTH EXCAVATION	4.0	CU YD	\$25.00	\$100.00	\$100.00	\$400.00	\$50.00	\$200.00	\$0.01	\$0.04
2	20400800	FURNISHED EXCAVATION	4.0	CU YD	\$25.00	\$100.00	\$10.00	\$40.00	\$50.00	\$200.00	\$0.01	\$0.04
3	35101600	AGGREGATE BASE COURSE, TYPE B 4"	181.0	SQ YD	\$20.00	\$3,620.00	\$4.00	\$724.00	\$10.00	\$1,810.00	\$25.00	\$4,525.00
4	42001300	PROTECTIVE COAT	134.0	SQ YD	\$5.00	\$670.00	\$8.00	\$1,072.00	\$5.00	\$670.00	\$28.00	\$3,752.00
5		PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	235.0	SQ FT	\$20.00	\$4,700.00	\$30.00	\$7,050.00	\$15.00	\$3,525.00	\$35.00	\$8,225.00
6		COMBINATION CURB AND GUTTER REMOVAL	356.0	FOOT	\$20.00	\$7,120.00	\$20.00	\$7,120.00	\$20.00	\$7,120.00	\$0.01	\$3.56
7	44000600	SIDEWALK REMOVAL	235.0	SQ FT	\$15.00	\$3,525.00	\$1.00	\$235.00	\$5.00	\$1,175.00	\$10.00	\$2,350.00
8	44200966	CLASS B PATCHES, TYPE I, 10 INCH	27.1	SQ YD	\$250.00	\$6,775.00	\$400.00	\$10,840.00	\$550.00	\$14,905.00	\$630.00	\$17,073.00
9	44200970	CLASS B PATCHES, TYPE II, 10 INCH	42.7	SQ YD	\$260.00	\$11,102.00	\$400.00	\$17,080.00	\$450.00	\$19,215.00	\$415.00	\$17,720.50
10	44200976	CLASS B PATCHES, TYPE IV, 10 INCH	359.8	SQ YD	\$275.00	\$98,945.00	\$400.00	\$143,920.00	\$400.00	\$143,920.00	\$200.00	\$71,960.00
11	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$550.00	\$550.00
12	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	100.0	FOOT	\$75.00	\$7,500.00	\$100.00	\$10,000.00	\$45.00	\$4,500.00	\$45.00	\$4,500.00
13	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	256.0	FOOT	\$75.00	\$19,200.00	\$100.00	\$25,600.00	\$50.00	\$12,800.00	\$80.00	\$20,480.00
14	X4820110	HOT-MIX ASPHALT SHOULDER REMOVAL AND REPLACEMENT (SPECIAL)	210.0	SQ YD	\$50.00	\$10,500.00	\$60.00	\$12,600.00	\$125.00	\$26,250.00	\$150.00	\$31,500.00
15	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$59,215.00	\$59,215.00	\$32,500.00	\$32,500.00	\$70,000.00	\$70,000.00
16	XX006425	RESTORATION	267.0	SQ YD	\$25.00	\$6,675.00	\$1.00	\$267.00	\$25.00	\$6,675.00	\$25.00	\$6,675.00
		Bid Total				\$201,032.00		\$297,163.00		\$275,965.00		\$259,314.14

業	LakeCounty Division of Transportation										
C	Return Bid Details Project: 2022 Concrete Patching Section: 22-00000-10-GM Description: Patch Concrete Pavement CPMS Pin: B-01406 Let Date: 4/12/2022										
ltem	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid Price	Avg. Bid Price		
No.	No.		y		Unit Price	Extnd. Price	Price				
1		EARTH EXCAVATION	4.0	CU YD	\$25.00	\$100.00	\$0.01	\$100.00	\$50.00		
2		FURNISHED EXCAVATION	4.0	CU YD	\$25.00	\$100.00	\$0.01	\$50.00	\$20.00		
3	35101600	AGGREGATE BASE COURSE, TYPE B 4"	181.0	SQ YD	\$20.00	\$3,620.00	\$4.00	\$25.00	\$13.00		
4	42001300	PROTECTIVE COAT	134.0	SQ YD	\$5.00	\$670.00	\$5.00	\$28.00	\$13.67		
5	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	235.0	SQ FT	\$20.00	\$4,700.00	\$15.00	\$35.00	\$26.67		
6	44000500	COMBINATION CURB AND GUTTER REMOVAL	356.0	FOOT	\$20.00	\$7,120.00	\$0.01	\$20.00	\$13.34		
7	44000600	SIDEWALK REMOVAL	235.0	SQ FT	\$15.00	\$3,525.00	\$1.00	\$10.00	\$5.33		
8	44200966	CLASS B PATCHES, TYPE I, 10 INCH	27.1	SQ YD	\$250.00	\$6,775.00	\$400.00	\$630.00	\$526.67		
9	44200970	CLASS B PATCHES, TYPE II, 10 INCH	42.7	SQ YD	\$260.00	\$11,102.00	\$400.00	\$450.00	\$421.67		
10	44200976	CLASS B PATCHES, TYPE IV, 10 INCH	359.8	SQ YD	\$275.00	\$98,945.00	\$200.00	\$400.00	\$333.33		
11	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$500.00	\$500.00	\$500.00	\$1,000.00	\$683.33		
12	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	100.0	FOOT	\$75.00	\$7,500.00	\$45.00	\$100.00	\$63.33		

	Bid Total				\$201,032.00			
16	XX006425 RESTORATION	267.0	SQ YD	\$25.00	\$6,675.00	\$1.00	\$25.00	\$17.00
15	X7010216 TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$32,500.00	\$70,000.00	\$53,905.00
14	X4820110 HOT-MIX ASPHALT SHOULDER REMOVAL AND REPLACEMENT (SPECIAL)	210.0	SQ YD	\$50.00	\$10,500.00	\$60.00	\$150.00	\$111.67
13	COMBINATION CONCRETE CURB AND 60605100 GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	256.0	FOOT	\$75.00	\$19,200.00	\$50.00	\$100.00	\$76.67